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public class Round1 {
intr;
double area;
public void getArea(){
area=3.14*r*r;
JOptionPane.showMessageDialog(null, "$25" +r+"g9
ERIEFRA: "+area);
1
public class TestRound1 { e B
public static void main(String[] args){ | &
Round1 round=new Round1();
String sr=JOptionPane.show/nputDialog( &t NERIH
=)
int r=Integer.parse/n{(sr);
B 1 round.r=r;
round.getArea();
}
}
EE#E=3.14? BB EMEmHIERR?
area=Math.Pl*r*r; B | Wit
MathZEREUPI, MEAREREZR (MCRRGEES
area=Math.PI*Math.pow(r, 2); Bk | rit
Math#rhEgPowssiE, pow (xy) , HEFRxAGyIRT. (NEERTES
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Math.pow(1.01,365)=37.78343433288728; YHE | e
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public class Rectangle {
int a;
int b;
double area;
double perimeter;
public void getArea(){
area=a*b;
JOptionPane.showMessageDialog(null, "&<="+b+", &
="+a+"HYERZ, EFH="+area);
}
public void getPerimeter(){
perimeter=(a+b)*2;
JOptionPane.showMessageDialog(null, "{<="+b+",

cli

="+a+"B9%ERZ, FE<="+perimeter); e | VA
| (MR,
woR | WIE
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public class TestRectangle { W
BE
public static void main(String[] args) {
Rectangle rectangle=new Rectangle();
String sa=JOptionPane.showinputDialog(" & NI
B,
int a=Integer.parselnt(sa);
String sb=JOptionPane.show/nputDialog("{&E i NAEFAY
=),
int b=Integer.parselnt(sb);
rectangle.a=a;
rectangle.b=b;
rectangle.getArea();
rectangle.getPerimeter();
}
}
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if(@a>b){
rectangle.a=a;
—h o34
rectangle.b=b; AT [E]g
Jelse{

rectangle.a=b;
rectangle.b=a;
}
BE82: Fl#ra, bAYKD, WMIRb<a, MEika, b, AFIEaESR
K, 15bIESRE.




if(b>a){
int c=a;
a=b;
b=c;
}

rectangle.a=a;

rectangle.b=b;
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if(c.account.equals(account)&8&wc.passWord.equals(pwd)){
String sa=JOptionPane.show/nputDialog(" 1 NEBFE
&)
int a=Integer.parse/nt(sa);
c.leftMoney-=a;
JOptionPane.showMessageDialog(null, "A)REXFR" +a+"
7T, HEIRENA"+c.leftMoney);
}else{
JOptionPane.showMessageDialog(null, "ZiZE N\ fEiR,
HEFEA! ")
}
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public class ATM1 {
BankCard c=new BankCard();
public void execute(){
c.account="123456";
c.passWord="111111";
c.holder="3k=";
c.leftMoney=1000;
String account=JOptionPane.show/nputDialog("iENKS :
5 ) | | AP T
Eflﬁw String pwd=JOptionPane.showinputDialog("EHNZERS: "); s | Wb




public static void main(String[] args){
ATM1 atm=new ATM1();
atm.execute();

}
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Math.pow(1.01,365)=37.78343433288728;
Math.pow(0.99,365)=0.02551796445229,
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public class ATM2 {
BankCard c=new BankCard();
public void execute(){
c.account="123456";
c.passWord="111111";
c.holder="3k=";
c.leftMoney=1000;

String account=JOptionPane.show/nputDialog("{EEN\IKS :

String pwd=JOptionPane.show/nputDialog(" s8I NZRS: ");
if(c.account.equals(account)&8&wc.passWord.equals(pwd)){
c.getMoney();
}else{
JOptionPane.showMessageDialog(null, "ZiZENfE1R,
BEAEMA! ")
}

public static void main(String[] args){
ATM2 atm=new ATM2();
atm.execute();
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public class ATM3 {
BankCard c=new BankCard();
public void execute(){
c.account="123456";
c.passWord="111111";
c.holder="sk=";
c.leftMoney=1000;

String account=JOptionPane.showinputDialog("{EHNKS :

String pwd=JOptionPane.showinputDialog("iEMNZRG: ");
if(c.account.equals(account)&&.c.passWord.equals(pwd)){
String sa=JOptionPane.show/nputDialog(" &5 1F124E
\nl: BGX 2: 78 3: BRE 4 BR")
if(sa.equals("1")){
c.getMoney();
Jelse if(sa.equals("2")){
c.saveMoney();
Jelse if(sa.equals("3")){
c.showLeftMoney();
Jelse if(sa.equals("4")){
c.exit();
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}
}else{
JOptionPane.showMessageDialog(null, "ZiBENFEIR,
BEHMA! ")
}

public static void main(String[] args){
ATM3 atm=new ATM3();
atm.execute();
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public class ATM4 {
BankCard c=new BankCard();
public void execute(){
c.account="123456";
c.passWord="111111";
c.holder="3k=";
c.leftMoney=1000;

String account=JOptionPane.showinputDialog("{EHNKS :

String pwd=JOptionPane.showinputDialog(" ENED: ");
if(c.account.equals(account)&&.c.passWord.equals(pwd)){
String sa=JOptionPane.show/nputDialog(" &5 1F124E
\n1: BGX 2: &8 3 BRRE 4 B
int a=Integer.parselnt(sa);
switch(a){
case 1:
c.getMoney();
break;
case 2:
c.saveMoney();
break;
case 3:
c.showLeftMoney();
break;




case 4:
c.exit();
break;
default:
JOptionPane.showMessageDialog(null, " NEIR !

}

}else{
JOptionPane.showMessageDialog(null, "ZiBENFEIR,
BEFMA! ")
}

public static void main(String[] args){
ATM4 atm=new ATMA4();
atm.execute();

}
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